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WEST BENGAL STATE UNIVERSITY
B.A. Honours Part-III Examination, 2019

PHILOSOPHY
PAPER-PHIA-V
Time Allotted: 4 Hours ' Full Marks: 100
The figures in the margin indicate full marks. 2feF M RIE MY PN [ F 1
Candidates should answer in their own words AN [ G I ST NN NG
and adhere 1o the word limit as practicable. Bed FAE!

Answer Question No. 1 and any five questions from the rest

SR et G O (F-CHIL 2510 ereim Tea whe

L Answer any five questions from the following within 150 words each: Sx5 =25

FsfRe @-@I =56 arem Ted e offel seo *w@ T2

(a) Give definitions and examples of samavayi, asamavayi and nimitia Karana.
IR, SR e fAfie Siaee ket ¢ Teigzd e

(b) What kind of cause is admissible for the destruction of abhava and why?
REATOITE GG (FH 2L e PO 6 (T 9

(c) Analyse the definition of Prama as mentioned in Tarkasamgraha.
SR ATE 27 N FTs Rese e

(d) Is sakti a distinct category — discuss after Nyaya and Mimansa Philosophy.
s & qaf wfefe e — i @ TRt o ST o i

(e) Determine the respective Indriya, Artha and Sannikarsa in the following cases
(any two)

oo craeRite Iage 3w, ud « Fhetelm S s (F- 1)
(i) Perception of happiness in the self.
IR (A E RS
(ii) Perception of cowhood of the cow.
91F9 CNPTEA 2OJ5F |
(iii) Perception of the ground as characterised by the absence of the pot.
ToreRRFE gorm e
(iv) The perception of the sound of the horn of a car.
a2 % eferw
(v) Auditory perception of soundness.
*A0ES AR T |
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(f) Discuss with illustrations different kinds of Asiddha hetvavasa.

e ereirT (S apate Srizasiz S It

(g) State the definition of smyti as mentioned in Tarkasamgraha. Why the term

‘matra’ (only) has been inserted in the definition of smyti?

ST e ST WP TrEd I | @ WG *f (0 9 Frwee e ol 2w ¢

(h) State the samavayi and asamavayt karana of a jar.

3086

G 96 TR W SR s Srad s

(i) State the definition of vyapara after Annambhatta.

GRGHIS AR o7 Sree I

(1) Construct a five-membered kevala vyatireki anummana.

G AW (FIE YR T 9157 I

How does Annambhatta initially define anumiti? What objection is raised against
the definition? How does Annambhatta overcome the objection? Formulate
Paramarsa with respect to the following inference.

The hill is fiery because it is smoky.

wireh et wfifer arfis am fires » @ el Rets & wiefe SufHe
TR 7 WEtSh el @2 wieifes Fuiae e 2

o4sfb AfFai ey G {ar-a2 S sfaree 154 It

Explain the definition of buddhi as given in ‘Tarkasamgraha’. Why and how this
definition is changed in the Dipika? Is this change tenable?

W:mmq%www: WWWWGWWWM?
R f arefcatof 7

»

Define Pratyaksa. What is laukika sannikarsa? Explain with suitable examples
the different types of laukika sannikarsa.

dernd e g @ @fRe e I @ 2 Rfes oo @R et
Twizacsz it It

State the definition of Karana as mentioned in Tarkasamgraha. How and why this
definition has been changed in the Dipika? Explain in this context different kinds
of Anyathasiddhi.

TERATE ewe I il & I i el e ¢ @+ e e ¢
% 2¥ex fifen e smeififa fa SwigzenTe st 3@

Explain the definition of Upamiti as stated in Tarkasamgraha. Can Upamiti be
included in Anumiti? — Explain. Mention the Karna and Vyapara of Upamiti.

wERaE owe Sofifen wwel g I ToAfifere & wafifer wesfe =t aw o
Hiras 33t Toififea T3 e vt Bra I

3+4+6+2

6+6+3

3+2+10

3+349

5+8+2
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T What is akamksa, yogyata and sannidhi? Why are these suggested as causes of 6+5+4
Sabdobodha? Why is Gounivritti (the figurative sense of a term) not considered
as a new kind of signifying power in the context of Sabodobodha by
Annambbhatta?

PR, @S € AR I AE 2 THERE &S aE IR I W @ ¢ TS
*ANed =fs chfgfers eféfie Ffews sy I R e 2

8. What is Sakti? What are the different ways to determining Saktigraha? Explain 5+10
and illustrate. '

=i it e 7 =frarza Bomai# R Siers st

9. Write short notes (any fwe) of the following: 7.5x2=15
(a) Laksana, (b) Linga, (c) Asamavayi karana, (d) Anupalabdhi.
fsferRe R Bt cecats (qa-cocent %1%)
(F) ersl, () fore, (o) SPTRAl B, (9) St

10. Point out the Paksa, Sadhya and Hetu in each of the following cases of anumiti 5x3 =15
and explain why hetu is defective. (Any three)

fasfolRe sfafsafem o, My ¢ @y TrE I aR @Ql @ 18 ©f P Il |
(-1t fefp)

(a) lce is hot, because it is substance.
7% T, 3174 afS 531

(b) Sound is a quality, because it is visible.
% @30 e, BT S HIFY ST |

(c) Apple is sweet, because it has appleness in it.

wtefe fif @=E1 SIS Wreerg g |
(d) The hill is smoky because it is fiery.
+efb (R ey it A
(e) The golden mountain has fire because it has smoke.
TR #i12Ief AfETE, Fad ft Re)
X
3086 3
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WEST BENGAL STATE UNIVERSITY
B.A. Honours Part-III Examination, 2019

PHILOSOPHY
PAPER-PHIA-VI
Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. eNfEe M TG RGN F017 e Fea1
Candidates should answer in their own words AT [0S G IR G W W
and adhere to the word limit as practicable. Ce7 FAMFI

Answer Question No. 1 within 150 words each, and any six from the rest, taking fwo from each
group, within 600 words each

s 7R &0 el Seo *twa w0 @ &S e care 76 w0 et FRew oy (3-ieet &l
eitaa Taq elfefs voo #tam Wrg e

1. Answer any fwo questions from the following: 5x2=10

frsferRe - it 415 @ives Teq wies

(a) Distinguish between Anuvrata and Mahavrata.
TS @ WRIS-F T AN I

(b) What is the meaning of ‘Dharma’ according to Mimarsa Philosophy?
Rt wefey o8 4f Feqee & QR 2

(c) What is Emotivism according to Ayer?
GATER TSI SRR FeT0e 6 @RI ¢

(d) How does Act-Utilitarianism differ from Rule-Utilitarianism?
S BTN A RS-GAAIIITHR ANy (IR 2

(e) Can instinct be considered as the Psychological origin of religion?
T TABCG TGS 2N & 40 Tevifen izt o7 5eeT 2

(f) What is Comparative study of Religion?

YT GERIETR TG 9100 F QIR 9
GROUP-A
feent-w
(INDIAN ETHICS-SIFSH Tfo*i%)
) What are the special features of Indian Ethics? — Discuss. 15

SRS Afoxitaa e NN ¢ —  SNCEAET S

3087 1 Tum Over
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3.

3087

Analyse the concept of Sthitaprajfia, stating the marks of Sthitaprajfia. Do you
consider such an ideal person to be an ideal man?

Froerem arwdafé Srad w3 gl Retee Fn ot & Frosw i sl T
e Stely At 9

What is Purusartha? Discuss in brief the different Purusérthas admitted in Indian
Philosophy. Discuss in this connection why Mok$a is considered as the hightest
Purusartha.

A FE I 9 SRS Wi Ny R sjwanda swfve Qe st o e
UL (o #fa {79 911 20, SCeAtsal S|

Describe in detail the ethics of Panchasila. What is the goal of Pancha$ila as
formulated by Buddha?

et Mo e Rzt wre | Jawa RS steefiter o R

GROUP-B
fer-
(WESTERN ETHICS - #iP5ie) R f&itz)

Distinguish between moral and non-moral actions. Which of these actions
constitute the subject-matter of Ethics and why?

o @ wifos gl sy =N Fot 3w ates s @i AfeRetm fe o
(G

Write notes on:

(i) Naturalism

(ii) Perspectivism.
ot et

(i) erpfeam

(i) fRotam,

Distinguish between Psychological Hedonism and Ethical Hedonism. Does the
former lead to the latter? — Discuss.

TGS AW 6 (ST HAANTHR Wy oy (e | et e 1 e w3 o
~ I S |

What do you understand by De-ontological Theory of Morality? Discuss after
Frankenna, the Rule-De-ontological Theory of David Ross.

FEGYN T TSI S [ @RI 2 FEANT GPRS I, c&sf%@aﬂ-aaﬁ’ri%
PG A FCH |

1243

2+10+3

8+7

6+2+7

7.5%2

12+3

5+10
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10.

11.

12,

13.

3087

GROUP-C
fRetat-ot

(PHILOSOPHY OF RELIGION - ¥¥w¥R)

Discuss Animism and Totemism in the context of Anthropological origin of  7.5+7.5
Religion.

T oI Teat e SR @ (BIGIIM ST Tl |

Explain and examine the relation between Magic and Religion. 15
QW e 4T b ARG S S|
Explain and examine the Teleological argument for the existence of Geod. 10+5

Foura SErga s Srwe-diaefefes el v St st

What do you understand by comparative religion? What is its purpose? Is 5+5+5
comparative religion possible?

G 4 7108 R (I 9 97 o R o geranee oof o 318 9
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R
WEST BENGAL STATE UNIVERSITY
B.A. Honours Part-III Examination, 2019

PHILOSOPHY
PAPER-PHIA-VII
Time Allotted: 4 Hours Full Marks: 100
The figures in the margin indicate full marks. ifeF i RIE RN 2N [ Fe31
Candidates should answer in their own words - AT e G 9 ST HANNNT T
and adhere to the word limit as practicable. o7 P!
GROUP-A
oM+

Answer Question No. 1 and any twe from the rest within 600 words each
> e @ O (F-(HI 7Y eveie Tea wis elfefd voo *ftara wwy
1. Answer any four questions from the following within 150 words each: 5%4 =20
fAsfeiRe @-coiat s1afb elva Tez e @Sl seo *tw wugs
(a) Why are words conventional sign? Briefly discuss following Hospers.
% (3 219 5% 2 AT PR I Reweet @Rt

(b) What is the distinction between ambiguity and vagueness? Why are the following
words vague? ‘

(1) inhabitant (ii) fast
! G TR W Ml i ¢ fferRe e wreE & ¢
()aFm (i) T
(c) What is propositional knowledge? What are the necessary and sufficient 243
conditions of propositional knowledge?

A @I FIF 30 2 A IR 2 SRETS ¢ i WS R/ o
(d) What do you understand by freedom of stipulation?

% 2T FRTS! A0S F @I 9
(e) Explain briefly the referential theory of meaning of words.

eI AT ogl g S

(f) What are innate ideas? Why does Locke not believe in the existence of innate
ideas?

FHFGIS Y7l PP I ¢ R (@ LA Q17N SReg Rl ST 9
(g) What is Category Mistake?
oia REw i 9

(h) What is persuasive definition? Explain with suitable example.

A o F| 2 BoiYe CRIRA™ FRITT I FE@H

3088 1 Turn Over
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2. (a)

)

(©)

Explain with examples the distinction between defining characteristics and
accompanying characteristics.

TR (M) @ FRo TafRIErR =N Bt Heraics! S It
What is the importance of this distinction?
9 IR @FG B 9
What type of characteristics is mentioned in the following propositions?
FefeRe avreiits @ wie T Sras @i ¢
(i) Uranium is used in atomic bombs.
EUCERDAS I SE e BITEl R SRR
(if) Tall people are also attractive.
7! NN SR
(iif) Squares have equal four sides.

BQUHICeia B1afG Sl AT |

What is realism? Differentiate between naive realism and representative realism.
Justify whether representative realism is acceptable.

JEI I A 2 HEe T 8 A IWATe Sy~ fvaont acat) afoqa
JEANM arzeigset {61 Il

What is ostensive definition? Discuss the necessity and limitations of ostensive
definition. Determine which of the following words can be defined verbally and
which of them can be defined ostensively.

(i) change (ii) red (iii) fear (iv) again

o T P A 9 AT THCT ATEATS! @ MARTS! St 3| Fee
el @malm MR Tt ent WET Win @Meli dwde W e ST Wl
HICEABA FCRM

(i) AfREq (ii) e (iii) ©¥ (iv) =i

What is the relation between a word and the object denoted by the word? Discuss
after Hospers.

T A = i) TS 397 et 79 NS 2 DTS Sopme 3@ @3 [ we)

GROUP-B
Rem-
Ang\%er-ngstion No. 6 and any fwo from the rest within 600 words each
© SR e @ W - 46 2raa Tga wie aifefs voo e o

k g
Answer any four questions from the foilowing:

fFxieRe G-It siafe evis Tea we:

(a) How does Russell distinguish between appearance and reality?

3088

AT FISIR SO € 6rga Wy A I 2

5+4+6

2+3+10

5+6+4

5x4 =20
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(b) Distinguish between definite description and indefinite description.
fafe 3t @ wifafWe afaim Sug il e s

(c) Briefly discuss Russell’s views on proper names.
e T TN ACIE TS FRCFCH A A |

(d) Explain in brief Plato’s theory of universals.
CRUBIR AN 97 TSNW L S5 S|

(e) How do the idealist philosophers, Leibnitz and Berkeley, explain the concept of
matter? —Discuss.

SRR v #iRIAE @ I PO TG ARG T IR ¢ WA I
(f) What is meant by ‘uniformity of nature’? Discuss after Russell.
‘oipfoq qaFerer IS [ QIRIN 2 ACEE TR SR SIS I |

(g) Does Russell admit the philosophical view, namely truth is man made? Discuss
briefly.

] TE 38 — «R i srof & A0 T a0 2 FREFCH Sed= St
(h) Discuss in brief Russell’s view about the value of philosophy.

VA SE AT I TS SRTHCP ST S|

74 Distinguish between knowledge by acquaintance and knowledge by description.
What things, according to Russell, are known by acquaintance?
AT wIw @ TS TR (on AT At ACTER TS ANHR (I (I T
sffpfowe s

8. How can we justify the principle of induction? Explain after Russell.
itz Nfors Tl ST TEHS ST F FA0S AN ¢ ACHE PR I I
AN

9. Distinguish after Russell between sense-data and sensation. What, according to
him, is the relation of sense-data to the physical object? — Discuss.
ACETS TP T 2R Totte @R SReTea =i fKefy s ola we, 2w
Tl @ (ST IFF N0 579 F 2 WA |

10.  “Universals do not exist but subsist or have their being’— Discuss after Russell.
A @R w2 e Rraet Sy w3l St 76! WirR — ACFELE SPRT I3
GCAGA! AT |

*
3088 3

10+5

15

5+10

15
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WEST BENGAL STATE UNIVERSITY
B.A. Honours Part-1I1 Examination, 2019

PHILOSOPHY

PAPER-PHIA-VIII

Time Allotted: 4 Hours : Full Marks: 100
The figures in the margin Iindicate‘ﬁdf marks. 2fe g 4% 75 YT [t )
Candidates should answer in their own words ; TR [Heea SIRNE I FET SHINT Ty
and adhere to the word limit as practicable. s Ffa/
GROUP-A
(Full Marks-50)
fTe-=

(Af=-o0)
Answer any one Optional Paper

@A-FEN 9F 5 Eoes oitaq Tea wie
(Vedantasara | ([AIEAIT)

Answer Question No. 1 and any mwo from the rest within 600 words each

S TR e ¢ WA (F-(HIA 75 @teta T afefs voo *Tara g wie

I Answer any four questions from the following within 150 words each: 5x4 =20

RS @Il b1AfS et Ten oifef seo v sz s

(a) What is meant by ‘Tﬁtparya"?'
Sle FT0S F @I 9

(b) What are individual ignorance and collective ignorance?
e oreals 6 7R S FICE I 9

(¢) Explain the definition of ‘ Adhikari’.

eI el v

(d) What is Indriyatmavada?
Sfaraeam F o

(e) Distinguish between Susupti and Nirvikalpaka Samadhi.
e @k Wi i s F o :

(f) Why is the text ‘Vedantasara’ called ‘prakarana grantha’?
‘RIS B ‘2R &’ J6T 2 @ 9

3089 . 1 . Turn Over



.

(g) How are the five great elements (Paficamahabhiita) produced?
AENZGS FISI TeofH 27 ¢

(h) What is ‘Upasana’? What is the necessity of ‘Upasana’?
ToAPTAL B A0 2 ToAPTR CAE F 9

B.A./Part-I1l/Hons./PHIA-VIII/2019

2. Explain how the statement ‘Tattvamasi’ leads to the awareness that Jivatman and 15
Brahman are identical.

“SEuBY 1% (A SN © AT SLSHEN FISIE Teois 23 ©f AT BT |

3, Show the Sruti, Anubhuti and Jukti in connection with the view that ‘Manas’ is 15
identical with Atma.

TZ WG~ R TSR T 2%, TS ¢ 111%: ol FTAN |

4. Explain fully the Svartipalaksana and Tatasthalaksana of Brahman following the 15
Magalacarana of ‘Vedantasara’. :

EHIGHIE ST THE6A CRIRPIPAIA JUAA FAIeTel 8 Shzare [ 101 Fal )

5. Distinguish between literal meaning and intended meaning. Explain and 15
illustrate in this connection the three varieties of intended meaning. -

and e FEEda s <N e s 92 e foneleia o Twizas SRSt IR0l
@l |

(Ryle / AZe)
Answer Question No. 1 and any fwe from the rest within 600 words each
SR @i € WA (- 15 @nea Tea afef voo *ta vy we

1. Answer any four questions from the following within 150 words each: 5x4 =20

e - orafb aiva T 2ifeld seo =irarm sty wies

(a) What is mind-body interactionism? Discuss briefly.
s M St 9 FREFCHA SCEOA S0 |

(b) Distinguish between voluntary and involuntary actions after Ryle.
AT SpTad Ba A oess @ witves i W 21 orans |

(c) Explain after Ryle the nature of consciousness.
BT WS SR HCA GO FH AT A |

(d) Give one criticism of the ‘Dogma of the ghost in the machine’, according to
Ryle. :

ABECE PR I ACH B GO — SLGR G35 FACEAGA ToHE= 1 |
(e) What, according to Ryle, is the concept of volition?

2iEEa S efgfed el 9

3089
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H

(g)

(h)

(a)

(b)

3089

Is intelligence a kind of ‘knowing how’ or ‘knowing that’?

I & 9= eiwra SN @ 4l @ QA @ o

What does Ryle mean by ‘intellectualist legend’?

Fize (e TeF IE0e F IR 9

What is the difference between the dispositional terms and the occurrent terms?

‘@] TR * G2 GBI *w R Wiz 2N 2

What is ‘category mistake’? Critically discuss after Ryle in what respect the 5+10
official doctrine involves ‘category mistake’.

‘AR PF T ¢ (TR HAE CFCG Afefpe Toam Frend @dre i
SR 2, AREA-CF SeprRel I ARG SIS |

What is dispositional statement? In this regard, explain the single track 5+10
disposition and multi-track disposition.

AR5 SRHIEE FICE A0 2 4 2R GG 2ierol 9k T eierel I FE |

How can the concept of volition be explained without admitting a mental 15
substance?

HOTT I T Feae 2[fET g6l FISita i 3 T 2

Discuss critically Ryle’s notion of ‘retrospection’ in relation to self-knowledge. 15

I-TAIR AR 23R orpleeitaa’ et JReE S 6 |

(Logic / S 1wt

Answer Question No. 1 and any #wo more from Section-I and Section-11
taking one from each section

SR e RS, qRTS da-d AR Ae-3 (AF @@ 96 F@ Fo it 1o
oTHa TEq e

Answer any four questions from the following: 5x4 =20
e @-@ I 1afe et Tea wies

“There is a close relationship between saying that something has a property and
saying that it belongs to a class’. — Explain.

‘I TGOS S 43 e @R I8 S @A ey — 93 U wfoa e 9 e
IR — I e

Explain the difference between the relation of identity and the relation of
membership. ' :

fSTe! @R FATHTSIA FHACHT N 2N A B

3 Turn Over
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(c) Are the following assumptions mutually consistent? Prove with the help of Venn

diagram.

va A & waifesy ¢ confbraz s 2w S
BNC=A '
(AnOC)~B=A
(ANnB)~C=A
(ANB)VANCO)V(BNCO)#A

(d) Determine the relation between Philosophical Logic and Mathematical Logic.
v IfefRm ¢ snfafes gfeRm st st fdfa s

(e) Explain the relation of reflexive-irreflexive and non-reflexive with example and
symbolic definition.

RO FKEN @ T1Zae! TR TTHHS F-SOTHHE 4R SIS ST 1] Al
(f) Explain the principle of Extensmnallty for sets.
@A e bR RN T FE |
(g) What is wrong with the following argument?
Socrates is a man. Men are numerous. Therefore, Socrates is numerous.

e e (vn o 2
(G AFGT N | AT PR | TR ﬂt@ﬁﬂw\ﬂ]l

| (h) What is “Binary Relation”? Explain with an example.
“fGeIl " I 0 9 G0 IR AR W AT

SECTION-I / 9&-5

2. (a) Translate the following sentenées using set theoretic notation: 3
e A efaces ebkEPR TR e T
(i) Poets are fond of flowers and birds.
a1 =1 6 A1 SR
(i) Dog is carnivorous.
T4 28 TR
(ii1) Tyrants are mortal.
STopHIAE ST |
(b) Give the symbolic definitions of set-intersection and set-union. 4
GiB-intersection @R (i6-union €3 AR EF e 7 | .
(c) Find the value of the following: : T4
frcare e o e e
M AN {A) (i) A, (A3}~ A
(i) A (A} (@) {A, (A}}~

3089
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(d) Which of the following statements are true for all sets A, B and C?
A, B @ C @16 @3 (Fg sfeiiie arrelm @e e ¢

(i) fAeBandBcCthenAcC
aﬁAeBachcﬁmmﬁAcc

(ii) IfA ¢ Band B ¢ C, then A ¢ C
IMMA ¢ BO9RB ¢ COATA ¢ C

3. (a) Test the following arguments by Venn diagram:
coHfbeaa AR {%ﬁhwmws
All liars are prejudiced.
Some witnesses are not liars.
". Some witnesses are not prejudiced.
¥pe TR FH IR |
g A =i w3
. g AR oRwaIRs T3

(b) Test by Venn diagram whether the following propositions are consistent or not:

coAfbraa MR Feare Al srafend [ ranes
BNC=A ' :
(ANC)~B=A
(ANB)~C=A
(ANB)UANC)UBANC) #A

(c) Cléssify the relation of being the same height in the set of all persons according
to the properties they do or don’t have. (eg. Reflexive, symmetnc transntlve,

antisymmetric etc.)

ST R (GBS CFCY SRCH T 4 (I o7, T, IR, Ry

2ejifnl)

(d) Are the following assumptions mutually consistent?

fefriie Ryeafe & ket i smfos o

Some Americans are virtuous.
No virtuous people steal from the poor.

Some Americans steal from the poor.

(I (I SRR «ifife)
I 4ififs e wiims @ pR s@an
(I I ST wiieea 4 5 3 |

3089 5
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SECTION-II / 9&-%

4. (a) Use truth-tree method to determine the validity of the following: 3
oA Aafore AR (aee! e e
(x) (Fx v Gx)—[ (x) Fxv(x) Gx]
(b) Test the following arguments for validity by truth tree method: 4+4

T “iwfea TRy e s tage! vl e

(i) Alma does not love all her lovers. Alma has a lover whom she does not
love.

T O 7 (AR SIERICT | TOAR ST 96 (@i ez WS G

IR </l
(i) (3x) Px
(x) (Px — QOx)
(3x) Ox
(¢) Determine the validity of the following statement by Truth-tree method. 4

Mo “mfen M Mo 664 (gl Fefm st

If a relation is symmetrical and transitive, then it is reflexive.
W T 379 A G- IR 22 O3 i 7S 2

5. Explain critically, C.I. Lewis’s theory of entailment. 15
o5& og T90H C.1. Lewis 499G S5 1471 |

(Practical Vedanta / IAQEE (@WE)

Answer Question No. 1 and any fwo from the rest within 600 words each
> TR e @ W -G 76 @red Tew alfel oo e W we

13 Answer any four questions from the following within 150 words each: 5x4 =20
e -t 51af% eivim Ter &l seo *itwa Wy wes
(a) What are the sources of power of great man? — Explain.
TR = B I F 2 TR
: (b) What is the significance of Dvaitavada in Advaita Vedanta?
SES W (ASAIR PG Sl 9

(c) What is the necessity of self-confidence as an ideal?

v R S e R eet F ¢

(d) How is the concept of self-sacrifice derived from the nature of ‘man?
A9 TS (ACF SEeitald «ige & ©itg Moo 2z ¢
(e) What is the real nature of man? Explain after practical Vedanta.

a7 P 2 AN @RS Svace! F1 S|

3089 6
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(f) What is I$vara according to Vedanta? Discuss briefly after Vivekananda.
(IS AT 5083 P 2 R Sl S0 ALCHC G |

(g) How is universal religion established in Practical Vedanta?
anifes wEce Fi i Afea «f efeozny

(h) Explain the notion of ‘morality’ after Vedanta Tattva.
AMIESG PR IR (Ao’ 4iaenfB =t Rzl

2. Explain in detail how one can construct and lead his life, in the light of ‘Practical 15
Vedanta’.
WWWWWWWGWWW sl Reifiesiz
CoTCRI
3. How will Practical Vedanta bring about the well-being of a society? Discuss 15
after Swami Vivekananda.
JIREE (@I FISIE TG 2ATF FeIFT 2, wﬁmwmqmwmm'
N
4. What is the justification for accepting ‘Nirguna’ instead of ‘Saguna’ I§wara in 15
the Vedantic mind of Vivekananda?
ﬁ@ww—h@mf&mﬁs@quwﬁﬁm‘ﬁwwm@w |
FCACRA ?
. Distinguish between Atmavada and Nairatmavada. Are they reconcilable in 15
Advaita Vedanta?
wwwetawwaw AL TR WS @IS & Tow Nrwd Wexy TG Hew
ﬂ@a 9
(Communist Manifesto / S8 wpifrwrroy)
Answer Question No. 1 and any mwo from the rest within 600 words each
SR &Ml € TP (- 716 erea Ter @fSfb voo e s wie
1 Answer any four questions from the following within 150 words each: 5x4 =20
- freteie - 516 e Tew @fef seo =it ey wies
(a) What is meant by class conflictless society?
AR TaIE TS . A TR 7
(b) What is meant by ‘Forces of productlon
Tesiia =& Foce & @i 9
(c) Elucidate the main difference between Utopian socialism and scientific
socialism.
el AACOE Wtﬁ'@ﬁ‘:ﬁf FNCTSH & AN HCEAG S |
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(d) What, according to Marx, is materialist conception of history?

3R IBAR I IS T B IRIGCRS 2

(e) What is meant by ‘Primitive Communism’?
S AW TETCO F QRN 2
_(f) Explain dictatorship of the proletariat after Marx.
TFHC SPTRIe FC AR GFATOF I Al |

(g) What is the main factor for social change? — Explain.

e SR o ieilG & o — vt e

2. What is class struggle? Explain the different stages of class-struggle in human 15
history.

@aWWWW?Wm%W@gﬂﬂQMWWI

3. What is the significance of the slogan — “Working men of all countries unite”? 8+7
- What, according to Marx, is the international task of the class today? :

“wfag Yo @F 267 @3 Wiva Oler F 9 TREH-9F IS IS T &5 @A
W ([oF T I 9 '

4, Explain the origin and nature of family, according to Marx and Engels. 15

I 8 QTS SeiEel 6 2IRAICE Te @ ATS 904Nl Tl

5. What does Marx mean by Feudalistic socialism? How does he criticize this 9+6
doctrine?

AITIEE FIeren Fe1ce N F IR 2 @2 ©gh o Freia FRCEE T2 2

(Dharma : Rabindranath Tagore / 43 ; %=1 31F3)

Answer Question No. 1 and any fwe from the rest within 600 words each

SR @Yl 8 YA (-G 45 eiea Taa @lfefd voo =t Sty whe

1. Answer any four questions from the following within 150 words each: 5%4 =20

afeiRe @-@ i 51afF 2vis Tag &St Seo i@ sy wies

(a) What is the way to overcome sufferings recommended by Rabindranath Tagore
in his essay “Prachin Bharater Ekah”?
T2 4(F OGS FAR (I 2L Th INAY 21T Ol “elibld SiHres aFs” e[
feacest ¢

(b) “Nayamatma balahinena labhya’
statement. :

TG RN TS aB TotfaER A Ba Sl i FE

3

Explain the significance of this Upanisadic

3089
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(c¢) Explain the significance of the. story of three boons following the essay

“Prarthana”.

I 2l Sepracel o S0 At Wik it Al

(d) Why is Ut.s'égﬁii-‘t’:'alhledw‘jl_:xowcr' of carnival’? — Explain following Tagore’s essay

(e)

89

(2)

(h)

3089

“Utsaver Din”. -

ST (1 ¥fed B Fl 2R 2 TG PR TN T el e
IR =

Why does Rabmdra‘ﬁath Tagore call the world as imperfect instead of nothing?
Explain following his essay “Dukha”.

(1 T P Tl (& W5} R, X A 9 Wl G2 A el
JrRAFCEN

State briefly Rabindranath Tagore’s’” view on individualism following his essay.
“Tatah Kim”. _ :

I FroFA A0 TG IIFER TG O 0w Rt el Sepiael I FCH
TCEL R |

According to Rabindranath Tagore, what is the great ideal upon which all our
festivals are grounded? — Explain after Tagore’s essay “Utsaver Din”.

ARG IFET NS A TG ©IE T SR T TR el o aqmie
DIFCAR TR 7 @l STapormice] i SN |
How does Rabindranath Tagore explain the Four Asramas?

AR DI FRARRE TSI 1 PR 9

How does Rabindranath Tagore explain the order among diversity? Explain after
his essay “Prachin Bharate Ekah”. :

Cafotara W WelsieE IqNEY AP ol T FE0EA 2 O el orre
2 ST I B '

“Flowerness is easy for flowers but humanity is not so easy for human being”.
Explain the significance of this view of Tagore following his essay
“Manusyatva”. '

&9 64 Sl wig ‘.‘ww”mwmqmmm|

What, according to Rabindranath Tagore, is our genuine prayer? Why, according
to him, the so called patriot might be a positive hindrance to humanity? Explain
following Rabindranath Tagore’s essay “Prarthand’”.

T JIFE NS AR TR A B 9 (v oo O 0o W S
20 B0 2N ¢ — AN AP “ALAL” 2l Pt v Fe |

Explain the concept of Brahma-vihara following Rabindranath Tagore’s essay
“Utsaver Din”. '

NG IIFER TR e @l Seprael I3 FARAE Al 51 st

15

15

15

15
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(Practical and Environmental Ethics / T532fs® @z #farat fifefam)

Answer Question No. 1 and any fwo from the rest within 600 words each
S W 2P € TR A-(FI 7o e Tea eifefb voo *rara w0y wie
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1. Answer any four questions from the following within 150 words each: 5x4 =20
fsferie @- o1afe aivem Tea eifefd seo it Wy wes
(a) What are the arguments against suicide?

wreRe [{eirs gfeafs & & 9

(b) “No one is born a woman, she becomes a woman” — Explain the significance
of the statement.

‘@T WA 203 T 1, WA 2 90— e wiesf et T

(c) What is meant by Human Rights? What are the distinctive features of Human
Rights? '
RIS TS F @RI ¢ AR (e Srad s

(d) What is meant by Gender discrimination? Does our modern society upheld
gender discrimination?

o (s <eTCS R (@I 7 I TN R forme (A 9
(e) What are the marks of *Just war’?
EgrE FEeei #
(f) What is ecology? *
AT FE I A 2
(g) What are the roles of environment and heredity in gender discrimination?
o (e ooy wifara ¢ aenifon i & ¢
(h) Give arguments in support of the conservation of nature.
eigfora W AR #IvF e ne)
(i) Do you think we should have reverence for life and plant?

2191 ¢ Tfgrva 2fS & sz G 2w THe ¢

(j) Do you support the principle of reservation as a means to compensate
discrimination in society?

oSl & waieea taaena afefRuiem ey s Afors de Fl ¢

2. What is euthanasia? Is euthanasia morally justified? 4+1

Tl 2o7l F) ¢ Tl 2ot 1 (afew e e At ¢

. What do you mean by Feminism? Distinguish between Liberal Feminism and 3+1
Radical Feminism.

AW 0 fF @I 2 TSR @ bR IR 2rew A WIEHA FCEM

4. What is racial discrimination? Discuss the arguments presented by Peter Singer 3+1
against racial discrimination.

wifeste taas) q@e @ @Il ¢ wifste s s om P e e wesa
Fa
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3 What do you mean by terrorism? Is terrorism ethically permissible? 4+11

FHFAM TECS P @A 2 FEPRIW J (ASFOIR TG 9

GROUP-B
(Full Marks-50)
faetat-2

(Af-co)
1. Write an essay on any onme of the following topics of Indian Philosophy: 25x1 =25
(Within 1500 to 2000 words)

oo witma el el g @@ 9o ff Raam Sy e e
(S@oo (ATF Y000 *THA X))

(a) General Features of Indian Philosophy
OIS Wt e (iR

(b) Brahma in Advaita Vedanta Philosophy
BNES (AW T FH

(¢) The concept of “‘Moksa’ in Indian Philosophy
SIS T (IR Y

(d) The concept of Purusa and Prakriti in Sankhya Philosophy.
AT 779 ¢ &3fs o) '

7 Write an essay on any one of the following topics of Western Philosophy: 25x] =25
(Within 1500 to 2000 words):

sirpre) Wit fasfole Reneffm g @ @i s Reee B2 s @
(3¢00 (ATF Y000 *THA JTH))

(a) Rationalist view on the concept of substance

EEIERE R &R ERI e R
(b) Plato’s Theory of Knowledge
CRICDIE SITog
(c) Different types of Realism in Western Philosophy
“rsteita [ifen ewia awam
(d) “Copernican revolution’ after Kant.
FICo3 ‘@iRfeE [ )
X
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